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Use the graph below to find the area ilial) Aalica oy oliaf JSAN padiul Use the graph below to find the area hsia aloua sla slish JEAY paiiod

of the shaded triangle. Bl of the shaded parallelogram. Jilaal) g suay
A =2bh A
. 1‘ 2 4 I
AN =-x12x10 g m 23l
10cm | : 2 = 10x 7
| N 2
5 ~\=60cm J = 70 m?
12cm 10m \ /
120 cm? 0 70 m? O
o 70 cm? O b, Tt O
- 54 cm? 0 | SR ©
4. 80 m? @)

60 cm?




Each side length of the rectangle in
the figure below is multiplied by 3,

describe the change in the area.

wleal) JEa dabiaa %gn Aaliual)

The area is %timus the area of the original figure.

bt JEa) dabue iladl 9 4 dalual)

The area is 9 times the area of the original figure.

s Jill dabisa ilazi 3 A daluall

The area is 3 times the area of the original figure.

.&,.La‘ﬂ JEaY datius % o dabisall

The area is % times the area of the original figure.

6m

wlgmto.y_adsd,h

.wi@éﬁim.?p,‘,éoﬁﬁ@1gé)<g

daleal) Ao il ¢ 65
o) Jalaa (A qpally

.

2

A 4

el

Use the graph below to find the area
of the shaded trapezoid.

hpadall dud daleaa slad olisl JS&M audiul

3m

49 m?

80 m?

36 m?

64 m?

st

-

A=%hw1+b2)

=%x8ﬂ10+6)

\= 70 m?




Finn Fitness shown in the figure olial i o

Codapal Al T 35 cSin

below has an intrence to the the Gulaill el fa AN dde AL Jaaa e

locker room from

room and the we A =wa

osh Agy
CABLA S5al Alaay) dalieall La

the total area of 2
=7x10=70m
7m
Exercise 6m

10m Room
Locker
Room

= 6m

Weight Room

7m Jaluial geat | (7o Jx

A rectangle vertices are:
A(2,4),B(6,4),C(6,1),D(2,1) .

Use the coordinates of the rectangle
in the figure below to find the sum of
the rectangle sides.

et Jebisa (ugh)

A(2, 4), B(6, 4), C(6, 1), D(2, 1)
sliaf Jeia o Jeltienal) GlS)aa) asdi)
-Jubaiieal) gLl Jighl gsana sl

- N W & O

saag 14

4x 4=16
112 m? o
96 m? (@]
100 m? (@]
103 m? O

A =70 +42 -16
112 - 16
= 96 m?

14 units o
g o
ferd o
== o

AB = 6-2 =4 -

BC=4-1=3

CDh=6-2=4

AD=4-1=3 —

0%

P=4+3+4+3=14




Find the volume of the triangular JSE (B pudagall SN siall ans 2

prism shown in the figure below. Loladl A ckangular priany shk'is guses elas 1gia JB o s
10 cm long, 5 cm wide, and 3 cm 3 cm 4k Scm dagg 10 cm dgh
V= %bh x h decp. Asingof (0 od i
1 Find the amount of water that can be
==x 4x3x10 s _ axal)
2 contained in the sink. :
3em = 60 cm?

* 180 cm? @)

60 cm? }) 150 cm’? 0

. 48 cm? O
¢ 120 ¢cm?® 0
54 cm® O
¢ 190 ¢m? 0
120 cm3 O
V=LxwXh
= 3x5x10

150 cm?




Find the surface area of the Sacal) Jobieal) ) giiial) s dalicn 2l Find the volume of the pyramid <ol JSall b magall pygl pas agf

rectangular prism shown in the figure .ol o o T2l shown in the figure below.
below.
8 x6x2=96
7L<)/ 8 cm I i
( 9 X 8 x4x2=64
|
6 x4x2= 48
@\ﬁ 4cm XX I
X9 _ 6 cm S.A=96 + 64 +48 fitkom
= 208 cm?
2 192 cm? O 2 600 cm® (@)
[ 208 cm? ca b 160 cm®
¢ 188 cm? O [ 200 cm?
¢ 168 cm? O ¢ 180 cm?®
v=§waxh
= % Xx10x6x 10
= 200 cm?




Find the volume of the composite

figure shown below.

ool gragall il JEE aas sag]

—_———

V

V = Lxwxh
=2x4x6
=72 cm3

V = Lxwxh

/@5 =10x2x5

= 100 cm3

Find the total surface area of the B Al gusall el praad A0S dalical 2o

e —————TT
square pyramid shown in the figure Loliy) &N q.n e zall
below. A/

. 248 cm? O
148 cm? @)
172 cm? O
168 cm? O

V=72+100
=172 cm?

SA

B=6x6
P =6 +6+6+6 =36 cm?
6cm
=24 cm

120 cm? O
96 cm? O
144 cm? O
132 cm? SA=B +2 pl o

=36+% X24x 8

=36+ 96 = 132cm?




The scores of 5 students in the final
exam are: 85,70,80,50,90,

o A LY AR 5 Say
il byl 541185, 70,80, 50,90

find the median of the data.
. 85 0
b 70 0
¢ ;
i 8.5 0

The following table shows the
number of CDs a group of friends
bought. Find the mean number of

A aasdl Gl s N Jgind iy

e ganall (i) (20 ol el B ola |

ilal) Jau i) HH6+5+243

5

CDs the group bought.
Number of CDs Purchased Uil o 2 Aaasall Gl ] s
4 |6 |5 |2 |3 4 | & | & |2 | 3
7
. B
20
4

(baad) Jas giall=

20
=4
5




L

Find the interquartile range of the
data: 35,40,45,55, 60,66, 70.

IQR= Q3 -Q1

el gl-lﬂ sl J:;J{
.35,40,45,55, 60, 66,70

Ef,

°

55

35

53

o )-8 55)-50 3-8
@, Q3

66 —40 = 26

The heights of 6 students in o adiadly a6 s
centimeters are: (135,124, 111,160,150, 160
135,124,111, 160, 150, 160, sl Jlgial hJi
find the mode of the data. : |
* 135 0
b 140 0
[ J
¢ 147.5 0



&

The following table shows the
number of hours that a group of
students studied for the mathematics
test. Which measure of center best

represents the data?

Number of Hours

g A Sloled) 26 AN Jgal) pring

ke Lo o Shadals d) LIAY Dl A gana

el Jdad B Qi) 38l

4 |5 |4

2

3

4

1

b
The mode

Iapay)
The median

(rland) Bacagiall

The mean

L‘-‘-A‘H

The range

(=)

®

The scores of 4 students are:
13,12,15, 16. Find the mean

absolute deviation of the data.

14

by 1.5
< 2.9
4 3.5

13 +12 + 15+ 16

4 -

:5—6 =14
4 _

13,12,15,16 ;4 3k 4 clas
palh alhall Cifi) bhugia aagl

13| 13 —14| | 1 ||
12|12 —14] | 2
15| 115 —12) | 1 | [
16| |16 —14]| 2

1.5 = Glhall Gil_ady) Ja gia

1+2+1+2

6
4

4

1.5



The following line plot of data shows

gl (10 Aaanal) i) dobide ey

the weights of a group of students. il Jasagl) an gl LSl e A gasa
Find the median of the data.

L} L]
L} L] [ [ ]
¢ L] L] ’ ® L] [ ] [} ] °

[} ] L} [] L] L] d L] ] ] (] [} ° d

L, R B . Bk I . . . .

The weight Ot

23.5 0
22 0
23

22.5 0

20-20-21-21-21-22 -23-}23—24—24—25—25—25-25
— — — Lt / — ~ -~

— — \

v

The folowing table represents the

Jib 14 oyl fias JQI Jgand

weights of 14 kids. ) Eranal) S Uadaiia e
Draw a line plot of the data.
The weight 3T,
25| 24|25(21(20(22 |20 25| 24 (25|21 (202220
24 | 24(25|25(20(23 |21 24 | 24|25(25(20 (23|21
[
L 3 t L] L]
L] 0 L] L
y e ® ) ) o ® N
~ 20 21 22 23 2 25
®
[~} o
b L ® L] L ] o
i o =} L] e o ° <
> 20 21 22 23 24 B -
[ ] ° (<]
o o L ] ° L ]
S 2, ° ° ° ° ° 5l
B Ry 21 22 23 24 28
[ [ ]
e -] o
d e L] ° L ]
y o L ] o [ ] ] L] <
B 21 22 23 24 25 4
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The histogram shown in the figure uags obial JSAI A maagall (@S 0l
below shows the weights of a group <3kl 2 sagl alasball ks 4o gana o5

of students in kilograms. Find how [—M—:A)wzq—)—u-ﬂ—;]w Sl
many students their weights where

less than or equal 39 kilograms.

Number of

s

8

56
II im

40-44 45-49

8 8
7 7
6 6
5 5
4 a
3 3
2 2
. . )
0 0
20-24

20-24 25-29 30-34 35-39 40-44 45-49 25-29 30-34 35-

| Weight (kg) (kg) Cish

3+5+6+8= 22

22

14

0%

The following line plot of data shows
the ages of a group of university
students. Find the mode of the data.

e G duaaad) BN e iags

S

' .
'Y - - L] ¢ L]
L} L] L] 3 L] L] [] L] .
' # ' ' 4 e < " . , Sl
"IRE el . . Bat. A B -
The Age

25




Find the range of the values

i g0y )

lad ol - dad i

}7 —i =12-5=7 |

represented in the figure helow.

5 ®)
8 O
6 O
7 O

Which of the following box plots
represents the data:
6,947,11,10,5.

: H

4 5 6 7 8 9 1011 12 1314

AU Cpeiayladl (g3 (3 gaieall Sillalaiia (e (gl
.6,9,4,7,11,10,5 :calla) Jid

o

2

{ n

4 5 6 7 8 9 1011 12 13 14

7

T T_H

T4 5 8 7 8 9 10 11 12 13 14

d, »

4 56 6 7 8 9 1011 12 13 14

O L£A(DA © U
R

o

7

R NSE



Find the surface area of the o gl (A pdial) o dalesa agl
triangular prism shown in the figure ol Jeal
below.

1cm

4 cm

2
10 = ,geiall Jsh 20 cm

2 120 cm? 0 \ - A= 10 x 4 = 40 cm?
& 108 cm? o o - A=10x 5= 50cm?
(@]

© 60 cm?

[d- 132 cm? 0} SA=6 + 6 + 30+ 40+ 50
=132 cm?




e

bl 1) Balal g gl JLEAN ALY gl

A8l & g (e

4L




Find the total surface area of

the pyramid.

-a M[C‘h"“ Aaleca ]:.%_ei

dac Al dabliuea sac a1

-~

160 cm?

72 cm?

36 cm?

88 cm?

S.A= 16 +% x 16 X9

S.A = 88 cm?



.-'-‘:-\.\_‘
L
At ™,
.-"'. '.rr 1 ! 2w
’ L’_,r""”}{-\.
. V 1 My
Iy 1
i B
/’ - II -II /
- = 1 = oCrm
= L
117 cm?
63 cm®
S4 cm<

O cm

: H.g_n[E.t_-..._u E.;..,L....u.q.] o g b

dac Al dabliuea sac a1

/)

S.A= B + L .p. 1t
1
S.A= 9 + E X 12 X9

S.A = 63 cm?



Find the volume of the composite

figure shown below.

.o Al Oyaaall S yal d&i’ﬁ\d@si

16
=s.c 4l J.M“AJJM\P;; . ——
Jshallx (i pall xe s )Y 8cm | 8cm 8 cm 8cm
16 cm B
V =Lx W x h 6 cm 6cm
8 cm > 8.cm
8 cm” bcm ——
|
O V=8X6X8+8x6X16
V=16 x6x8 V=8 x6x8

V=8X6Xx8+8xXx16Xx16

V=6x8x8+8x8x16

V=8x6xXx8+8xXx16X16

Oaaad) gand




he composite -oL3a) (Csasal) L?IS‘)AJ‘ A== “eél A= 9}

V =Lx W x h

V=10x5x 10 + 10 x 5 x 20 _
votoxsaaonoxsazo L LTSN vetoxaox
V=10Xx5x5+ 10 X 5 X 20 \/

V=10x5x 10+ 10 x 20 x 20

V=5x10x10+10x 10 x 20




) Aaarall al 3N sac sl Jsaad T2

15 .I::—u.n_g.:a.a.:\ i) .;@MST\ A 35_9.4?.4 Lg_"a_)laja\

.:'.‘A__AJA.:‘ Qa\)é‘}' dam bs—.""""a"“

A_s._\.d\ ua)s’Y\.uc

6 4 T
. O

pdll e gana .
. NS = (sibeadl b giall

6+4+3+2+0 15
5 -~ 5




= A Sall )BT sas oEaY (S sand s
1905 all cacawmt L 213 ST Cra As gamm oa LgS ymCn
-A S adall ) SST .A.Aa_‘[‘_’_.a\...uaj]

18 aall & [ gana )

16

7+5+4+2+2 20
5 5




Find the median of the following AN @lual ) laa) clagal Jasi ol caal
Mathematics test scores: 57,35,22,45,40 .
57,35,22,45,40.

—

g ey dae Y Jag (8 Ay oA add) ; Jas gl

0 22 Sy L) Say) Cra dlas YY)

o : 22,35,40,45.57




buwugll Median

TASY ) Siledall LSRN Galajal daacagl) cacaal)
.77,45,30,55,37

|
S5 Lgi 5 day dasY) Jag B ady A damdl 1 gl

|
SN A ) e dasY) G

45

37 ‘ :! i’ ’4;5’.&77

30




Find the range of the following data: AN fall) saafaad

11,12,9,5,15,13. 11,12,9,5,15,13 .

o

0 10 e pual — ae aS) 1 gl
5,9,11,12,13,15

15-5=10 (!l




s a3 oll The ramge

T AT Y Al Sl et ot a | A gl
-1 A, 122, <9, 7, 20, 1335

|

2 Ae ual — e S| 1 gl
|

o 7,9,11,12,13,20




sabind 3l clags ol Jsaad) i,
Jgiad 2ag |4zasd

) 5,85 A aand) + ) giall

802 202 5°
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caliad) Bjlall cila e slal Jgaall mlagy
Jisiall aagl . Asagal)

) 5,85 A aand) + ) giall

AR




The ages of candidates in an election ep SRS 8 faadiyadl Hlas)

are: 23,48,55,57,63,72. .23,48,55,57,63,72
Name the outlier in the ages of omadiyall Hlasl A& A8 kel 4adl) | <3
candidates
; 23 48,55,57,63,72
); - Z\&Jhld\ Lf.ﬂ\
alll) Bl e 1S Basy (688 A dagdl)
48

72




-43,48,55,57,53,72
cOmand pall jlas ) L8 A8 T al) AaaBl) <)

43,48 ,53, 55, 57,@
- + 43 jatiall Aadl)

alll) Bl e 1S Basy (688 A dagdl)




Find the interquartile range for the datl Ll dasl =) g dad
number of texts per day: 24,53,38,12,31,19,26 :asd 2
24,53,38,12,31,19,26.

38-19=19 /m' 2?@

53 - 19 = 34 Q1J5Y) gl éf:ﬁ'[ Q3 gyl

el - S Al = ol sl
53-12 =41 353

=Q3-Q1
=38 - 19= 19

38-31=7




Aol eyl saml o=yl | gaall aa ol
24,51,40,12,31,20,26 :asxll ,:.,i'-

40 — 20 = 20

_________________ T

ol - S Al = ol sl
51 — 12 = 39 Jo%

= Q3-Q1
= 40 - 20= 20
40 — 31 =9




10

60

40

UL 4 ganal el cal el Jasgtia .i:..._gi
boigiadl o) Lale (oUal priagall Joand 38

.60 sl laall)
Lo sial polos itennd

i—I-ISJ. s Jl-'.-n-lli

60 40 80 60

60 | |60 — 60| 0
40 |40 — 60| 20

S0 180 — 60| 20

) Ay Jacs gia 0+20+20+0
(allaall 4




alilaal) A ga=w al CAdaal)l Al e S dacu gSa A gl
o ugiall (i Lale coalial Fcagall (Joasmty 3

50 (sstow twan | | Ly gl = 50

-LTi:I.SJI __Jl.‘l—uui

50 | 150-50/ =0

SO 40 60 S0

40 1140 — 50| 10

. 60 | |60—-50] = 10

50 150 — 50| (=0

) _ady) Jaw gia

Gkl

0+10+10+0
. —
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10
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Activate Windows
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25

27

Find the median for the box plot sl 3 ial) bhde b

shown below, ol paga)

Average Daily Temperatures for One Month

—: __F—

B 719 223252729 313333739 44
[ Lo 1l

27 ] Aaly el gl ) bl

e

=

D s s B e g
BTOABBDNNRBNN MG




Find the first quartile for the box Creiaylall (g3 (F gatiall Jakadat (J oW sl aagl

plot shhown below.

Average Daily Temperatures for One Month

t ' g

1
T

T T T T
21 23 25 27T 29 31 33 35 37

1 | 1 1 1 | l
] I I I I L 1 I

23 25 27 29 31 33 35 37

33




o) 8| Cpld Ciuagl liall (pubdlad) A

SSIVPY O |

median P — o Ll
| Jildie g |

L}j:g" f;-":',;" O

first quartile

Glaad CilaiNl higia O

® o o
mean absolute deviation ® © o o o
® © © o o o o
® © ¢ o o o o o o

gl O
mean 24 25 26 27 28 29 30 31 32 33 34




2 25 26 2F 28 29 30

BES AN
first quartile

Jases gl

median

Biaall CalatY) Jaugia

mean absolute deviation




Which of the following statements

is true about the box plot below?

Roller Coaster Speeds (km/h)

— - *

| L | L 1
]

1 ]

| I
40 50 60 70 30 90 100 MO

Jo¥) Al S ac M)
50 ;ssbes 2 g 50 70
interquartile range is 50
90 by AN g)] P A g2l
third quartile is 90 70-50 =20
50 s sbus IS &) Ci 8 928 A gl
first quartile is 50 90_110
FPCRERR
there is no gap




NN = =ox: R
¢ alial G 3Lt Lﬁ* (8 gad.l)

interquartile range is 50

(km/h) >all H'IJLEE —le

bad gy

there is no gap 40

40 ggluw (30 g
first quartile is 40

70 (§glas S 2
third quartile is 70

2= A g2l
70-50 =20

[ O 5928 2o g }
90-110




_ = AIEI Lyl W] s

S (8 g . al)

h.w.x‘gl\
M \

.-:‘II.{:} 5':' ED FAS S0 =1 TO0 110
50 (golew o) (g2ral) Sty &)
70

interquartile range is 50

A g2l
70-50 =20

Byad aagi Y

there is no gap

O 8928 2o
90-110

40 (Sl J5 & 1

first quartile is 440

70 (S5l SN Al
third quartile is 70




dhyi galolial adll Lo Jdand priagy
aie Anal Jehay Lt Laulud Bac 8

0 Bem :
b 7
bem Slo oL
20
18
16
= 1
b 12
18cm k40
= 8
L
= B
4
2
0 1 2 3 4.% 6 7 8
[2em Tm




A gad olial Jadl Slal) JaSail) praia g
6 om aie Al Jedas Lt aulal sas A
.EgLu.jﬁ
8 cm Sl of
20
18
"""""""""""""""""""""""""""""""""""""" 16
=_'- 14 e —— x x
~
10 cm q4 12
w10
g« 1
L]
--------------------------------------------------------------------- e 5
4
2
18 cm 0 ™= 3 a5 6 7 8
E o




L J~3 g ‘
£ '\3&3;
LUA.A
RN ;
J .J‘

A

6 x 2




- Jldall J ggaal) dall Cawial ¢ LiaSa | yia

V= 90




ALY day yall cilaa gl) a3 = dalecall

ALB ) day pall Cilas glf dny & gl

r gl JSAL il gall JSAN Aalw L

dayjading 24 A

daypadang 22 B

Ay 30 332520 .D



4 + dag yal) Colaa gl ) glaall (S Aaba L2l

4

-

s ' A= 4+ (4+8)

1
48 yiagad g i adall Ak dalo A _EX4(4+8)

A= ZiXh(b1+b2) A=§X(4+8)

A= —~X4(4+8)

A = %X 8(4+4)



gl JSAN o) dabisa slaal ¢fa 58 oy

S.A=2Lh + 2Llw + 2hw

: : SA=L+ w+ h
Jubaiasa gdila (S
S.AGLMW\AMAQJJ@
2L+ 2w + 2h

Lh + Lw + hw




¢ dalual) o dld Jilile | 5 Aoly suall Euliad) £3a) i Al 1)

\ ia 625 o) 51 iy S poual dalud)

A 650 hhﬂd‘uis#ﬁm\ ‘ | “
O ya il Jama & Gyl diia 125 1 53 ey ) mual daleall

- BX5 _lakay yesy ailil) 1Y) Cial 5 ey Sl Aalicall
524 25




= o= gl zlagh) coe BHU A AaBEial) £ Gluled (e AdSEe plaal alainad o3
ralad S gl Jlghl cals 13) .27.5011‘?2]‘.-_\...,4&11@&»! alad JS g3G g
faGalua Wi (8 CM sy

801 alaay 2 X2
a) 110 cm® dalwall Lle ) mm
b) 32 cm® l yem
¢) 16 cm® o Al
Cit 3 Jalaall
d) 55 cm?
X 2 X2

A1=27.5 s = A2=110




4 Ll gl ¥y £)a¥) Jlgla! aeud] s uh wl om0l Glud) Lle Edid) ) as )

855 5

P= 30 + 34+ 16
=80 m

+ 4

LS |




I :éﬂ\Jﬂd\@az\Aw A gl

Eulial) g3 ) ghl
a,b,c

A =hb +Ha +Hb + Hc

A =12X9 +(10X12) + (10X9) + (10X 15)

A =108 +120+ 90 + 150

=468




A

¢ 7ecm 9 3cm el Job O3 ¢ pse faiie 50 Gijade 4nd dabua

b2

bl

2 A

b1+b 2

2 X 50

7+3

100
10

10 cm

?d)ﬁd\‘\,\ﬁ:&@)\uﬁ




B fa T2 Alalua Glia B Jggaall ) a gl

A_
12m b= 12 6m
h=??
12 m
2 A
h= —
b 72 m
2X72
= = 12m 8 m
12




h _ V 24 24 3 cm
12

4 cm
2cm




a) 18 m’
b) 9 m’
c) 6m’

d) 4.5m’

40354 gyen Rl Dol pan e

V = ;—bh X h

V

s ;—X3X3 X 2

V= 09




15 J)sm

¢ Gssinall Aadaadll ) 2 a6l 24 o’ Ggsiall paaa iy

V= 24
a) 3cm,2cm,2cm b) 3cm,4cm,2cm

¢) 4cm,2cm,2cm  d) 3cm,3cm,2cm

V=LXwXh

24 g pa dals ) J) kY o L




19 Ji5w

18m - -
Al L)) daleall
7X7=49 ¢ il Jealt Aok gl
8m
15
11m c. 495¢m? d. 470cm?
15m
18m
A=15X18 A=15X18 27O+270 : 49
= 270 g s = 270 s sis = 491




